BotR3E | 20&aed0 |
@5y 12112019

Send your Feedback to vidya@sakshi.com

D8 D

[T TeTe)

86, 2088/ Learn English
General Studies - Current Affairs

® 53 apBO DE5e5..
V8o

BB6S HADH- O

Banks - Quantitative Aptitude

VoHT B0
2366 HAS - rHd
Banks - Reasoning

SDTB0
2365 HAS -
General Studies - History

20 TGO
es8es825 - S SDES,
General English

tooaredo DEae60
2365 YAD - 8308 e, 2366 YAD- B0BAHS IS*S
General Studies - Geography General Studies - Polity

5368 TR, WPRR), BE0D) TN

epaper.sakshi.com

sz (L) 7
a mophIE38 0 X(7] =7" 9008 N Dens?
S5 D@ 1)2 %) 3
® 3) 1 4) -2
s & 2
- o
57000 Hfye0 /
727 =7 (CaMxal = gt
&8 $)¥o agTeR) Bo By & 73024 = 77
508" DEHEL F0S? 3n-2=7
1) 8 3ew 2) 4 3en 3n=9
3) R Ben 4) 16 Sex n=3
2; 1. a%— 1296 o8 weroto &7
r a°§£r°c§o &) QB Jego = mr? 1) (a—14) 2) (a+ 14) 11. 45 . x 3 . Fodw &) 2.8 1o
5°§@'°U°@& 3305 (2r) SE 3) (a +8) 4) (a+6) RO Fpomr a8 HBSR0 &)
Hgo 5%°e>§o = n(2r)? es. 4, FHE TS Dot HEEER8 ol :
=4nr? > 4 3eX at — 1296 SES Hoso Sogg? 3) 10% 4) 5% Q) HepfPode AQE doS?
o¥  OgHo Doy, FEY X (1296 = 6%) 1) 6 2) 8 .3, 1)1:2 2)4:3
2058 BHo  eotnod. NES) a* — 6% = (a%)? — (6%)? 3) 9 4) 12 P =2000,a =3000 3)2:1 4)3:4
PEHIH Boh) woll @ HFHSo = (a% + 62) (a>-6?) 1; [=a—P=3000-2000=1000 e 4,
$05505700 D0 ? | a’—62=(a+6)a—06) K6 Frogo = 4.5 ox 3 &. g - 1001 _100x1000 _ rir,=3:4
1) 2x3 2) 4x ;. 28 Tedemoto a + 6 =450 20.8. x 300 20.. PT  2000x5 HepSPodeo %G 2mr, : 21,
3) x> 4) 3x° 8. OSSHYITE D Ao 88 BEHEIS Ho¥ gbeo = 450, 300 . el Y 8 Hod Hhsver S 12 =>r 1,=3:4
3; 20.9. x 20 200.&n. Foden ¥OA K.Je.e°. = 150 5006 2 Qe 20 &%r&° $pd B, wd 19, & &qgiseﬁod@@’@é Joo  FED),
ALY =x God. TR EY Jowd e FEHYFTE Ho¥e FTego 529 6 S0d & Qe 12 3008 HHRED Sewy BGod S0& 8 . S8
Seeny = x/2 ABES KopaleR) Hoore el Tl = 150x150 SRS @630&)@@% A Beren Foo HEES 56 D. wond T
N = 2x SES STOL0 D0es? (?00.5332.06‘5) 9@@(336 Hose éosp?g = K& STeg0/ D 0b ? B%""Q)?SO? (5)3 @é‘s)
53‘{.33?60 0858800 = [bh 1) 3520 2) 1760 FEH e Dode STPOL0 1) 15 2) 13 1) 192 2) 294
X X x/2 % 2x =x3 3) 880 4) 440 450%300 3) 12 4) 10 3) 162 4) 100
JEFoSY SHenRos® s, IHo @ 2 150x150 .4 es. 1
A8 4 : 5. 0 Fwrego 720 c‘f)o 2 AS0 PSS (1) = 88 0.8, - Az 058D H55)8° €0 a¥ B 8 5008 Hhsven = 12 Hod é@ 28 ey =x
ond & ? (dv.08%) Stéeny = 20 0.8, B e T9.80% K50 0P &% $Q = 1/20 HESHBD FEH =2x — 8
1) 80 2) 25 Ko e = Jmbo 8D S008 &8 &, 10 escnd, SERSER) @Cﬁ)oag& 2.8 &% 5 =1/160 Henfed = 56%.
3) 35 4) 20 2nr = 88 H%0) Seo? 2.8 2 R &8 8 80 = 1/240 =2 2x—-8+x)=56
1, 2><§><r—88 1) 10% 2) 12% 68530& coeo+12$630& HHHO B 3x—8 =28 = 3x =36
SEP0BE BEthe G, A& 7 3) 12.5% 4) 14% P N x=12
= 4x, 5x r= 14 20.%. .4, 240 160 FEH=2%x12-8=16
SO0 = BIPdD x I Ssho SEBe Fwego = 2nrh & &%) &8 = &, 79.80 _ b _|__3 _4_1 6. 8. FPogo = aeshx Iekeny
= 4x x 5x = 20x? 222 42021760 520055 S 8 = . 70 40 40 40 10 =16 x 12=192 $.20.%.
2022 = 720 T TR e osiyssh 55y Bk B 5008 fov + 12 H08 Hhihes $0 | 2. &8 AFSHEFTY Foo Frog
x2 =136 9. . 25000 £bcH B0 Jerd 085 ~79.80-70 <100 _& <100 =14% 3 8eren = 10 1125 5332, R eeoy 9 8. evond
x=6%. DS So5B Y08 5% Sy Srhde 70 70 | © BESHBHO HEEOS Jo?
D8 =5x6=30 . ol Toth BosHTo Horgs @ 13, Toth Bnes afHS e, Wers 16 81+ 0.81+/0.0081/10000 =7 1) 140 &.  2) 144 &,
5D a8 30D a°§é5§s 5O &oe. S8 o ? §°Q 2.8¢3 16% ereed8, So8°Eed 12% 1) 99.99 2) 18.9 3) 156 &. 4) 200 &.
28, 860%H &I, ol eden &Y 1) &°.22,962.50 2) 63°.21,062.50 Sapd eac‘bo&é WIS 567?373 egfo 3) 99.8 4) 999 es. 1,
&r.26,000 wand P DHODS 3) &.21,000.50 4) &3.20,500.50 S 5780 dod? .2 0 Bav@ago(lb) = 1125 $.8.
g5 Bem? (T250S)? 2. 1; 1) 1.5% ereso J81=9 @vé@(l)—g—%éb
1) 10% 2) 13% P =25000 2) 1.5% S50 25
3) 12% 1) 11% = 5% 3) 15% ersso 8l e Sos 2(1 + b) = 2(45 + 25)
e n=2 ) 4) oraso 8eh, Siho e 100 = 140 &.
5°§é5é§5 EODS 58 — eoden &8 Bo&%éa éﬁg es 55 = P( R j 1. J0.0081 =_9 _0.90 21. 64 $0.200.8. 085880 )
= 28860 26000 = &». 2860 100 Bocss D% FHBo = . 20 100 Both oo K008 dEE HEHS
2860 . eegfreso = 15% + 10000 =100 Sosrgde Jwogo? (Wo. D2 @eSe)
T S = gg 1000 =11% ( 5 )2 20x115 9+ 0.9 + (0.90 x100) 1) 158 2) 160
=25000| 1——- S Sy = - : :

Bh2abo Frego 320 $.20.8., Bok 100 ¢ 100 9+0.9+9=189 3) 182 4) 178
DSroS8E  ehere %S 16 0., — 25000 BXE _ . 22.562.50 3088 W) R0 =20 ol éoﬁéﬁofg:éa 40% Sood @l = 2;
48200.80. wond & JSrosE ghHere 20 20 Sgzego = 12% ErHEHd ey SO0 ogoe Bdod. & S0 K%, =ad
265 &S0 Dod? (0. Svodt) 10. 426.19 + 1.7 = 250.7 eond _20x88 _ BSTTeTeR 8B O Eos® )
D 10 2) 12 42.619 + 170 Denss dos? ORge e e wﬁaé@;éﬁ% ?os;tg R e L E
3) 14 4) 16 1) 2507 2) 25.07 S0t Diew FH3e =40 §%00 08 ? aheo P8y =4 +4 = 8 0.5,
1, 3) 2.507 4) 0.2507 el v =23 +17.60 = 40.60 1) 40° 2) 120° ey = 4 0.0,
@ofabo Frogo =320 S0l @ 4; 42619 2507 orgfo = 40.60 — 40 = 0.60 3) 144° 4) 150° A& = 4 0.80.
Go@aho Feso = Ysh(a + b) oty =2 060 10029 _15% 3; B8 Sodrgde Frego
a=160.8., b=148 20.%. 42619 _ e7 ' 4 38 Sraaedd = 40% = 2(/b + bh + hl)
¥2h(16 + 48) = 320 170 . 2% egof & 2000 &areS BIS VS Boo E¢ B §%ee0 =28 x4 +4x4+4x38)
Y2 x h x 64 =320 42619 _ 42619 2507 snp 5 A &e. 3000 22yS $& :ﬂ <360 = 144° =232+ 16+ 32)
o 320 320 oem 170 1701000 1000 3en dods? 100 =80 x 2

32 =0.2507 1) 20% ) 15% 18. Both argrore A 3 : 4 90008 =160 20.8.2



